


% fog=f(g)

1
fog= + 2
(x}-l)
fog=3+x

dom(f o g) = (=00, )
dom(g) > x+1=0
x=-1
dom(g) = R —{-1}
% Dfog = Dgns N D

9

Dfog = (—00, 00) — {—1}

E






f(x)=—-2+In(x+4)

y=-2+In(x+4)
x=—-2+In(y+4), swap x & y
x+2=In(y+4)

x + 2 = eln0+4

e*t2 = y+ 4

y:€x+2—4
fH(x) = —4 + e*t?






Stretched horizontally by a
factor of 3\

Shifted 5 units to the
right

(57)=63







% cos™?! (cos (2%”))
1 291
y = cos (cos <?>)

291
COSY = COS (7)

% Range of (cos™1x) =[0,n]
% cos (2m—0) = cos O

291
COSy = CO0S (4n — —)
8
N (371)
COSy = COS 3
_ 3
M






tan (sin"1(x)) =

X
Mok



(e N L B =




% f(—x) = f(x) - even
* f(=x) = —f(x) - odd

)
L X4

odd */odd = even
odd */even = odd
even */even = even

X3

*¢

7/
0‘0

even T even = even
even + odd = neither,
EeXEE T O Teanc
special cases

s odd + odd = odd

7 /7
0‘0 0‘0

f(x) = x?xcosx

even * odd = odd
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If fl@) = 2tan '(®) -+ 1 , then range(f) —

(A) =@+ 1T mt 1]

(B) (=% + &, @®+1)
(C) [138r + 1]

(D) (1.2 +1)
(E) [—1,3]
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@ fx)=2-tan1(x) +1

Range of (tan™'(x)) = (‘%%)

Range of (2-tan"*(x)) = (—m, m)

Range of (2-tan"'(x)+1) =
(—r+1,m+1)



The solution of the equation 4% 1) = 20844

is =

(A)3
(B) =2
(C) 2
(D) -3
(B) 1

I} A AN | Nmsy

2X+ ) 2x1 Y

[l s 2

—

yx+d PR
= = 2

Y X+ 2 = Ex+T




con{2 aresinixe}) =

(A) 2T =7
(B) 1 =2*

(C) 227

() 2% — )

(£) 4 - 209

m

_’:':_,;] coos (25 (x))

)’;'J’Cx) P
vz 506 iy = sl2P) 2 e
Z

o
= [\J l—x‘j ~ |
= & [,’X-L j =

T L_’__ET]




If f(x) = 2sin"'(z) + 1, then range(f) =

(A) [+ 1,7+ 1]

(B) (= + 1,7+ 1)

(C) [1,2m+ 1]

(D) (1,27 + 1) —_
(E) [—-1.3]’?,
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Ifw < 0 < °F and sin(0) = ', then cos(0) =

(A) §
(B) ¥
(©) F
(D)
(E) 3




If f(z) = 4:+9’ then f~'(z) =

(A) it

Or+1

(B) 2251

(©) 5%

(D i%CE

(E) =9

B—dr

E Ly = X

Yx+9

Y = WS \) +9) - S+
Ix+

=% ¥y 497y c SF¥

—> '4)(\/—5,\/: /'ny

X (Yy-5)= I-9¥
X= = ay-raigl
1Y -5 -

5-yy
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Secb = :_3
2
4.2
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One of the following is an odd function

(A) f(z) ="+ a*
(B) f(z) = = + ||
(C) f(=) =="+1
(D) f(x) = z*tan(z)
(E) f(z) = sec()
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The horizontal asymptote(s) of () = Torre—=

is (are)
(A)a:=-}and:r:=0
B)y="0

(C)y =13

(D) y=3and ¥ =
(E) y =7 and ¥y =
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% The function has a root if f(a) <0< f(b) on (a,b) interval
2% + 3sinx = 47
f(x) =2+ 3sinx — 47
by trial & error
f(3) =8+ (+1)—-47=-38<0
=84+ (—-1)—47=-40<0

F(6) =64+ (+1)—47=18>0
— 64+ (-=1)—47=16 >0

D
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If f(fﬂ) = log,(x) , then lim f(z) — f(1) —

r—1 x—1

(A) O

(B) In(4)

(C) &

(D) S nh ey
(B) 1

Scanne d with CamScanner
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i x*+1
x—Eri—xz —6x—7

numerator range is (+ve)

x> —6x—17

L (e

x->—-1- 0t









= T2 (Z2) - W 5 a:(;) g’

F )] =\2
/{2) mdi2 2 L Z3 = N;{a//?:‘dc

p{g) = BYE PR - = Posative -

R ey oy A ——————
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